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Unit 1 Test Review

® Translating and Writing Expressions

® Defining Variables and Writing Equations/Inequalities
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® Algebraic Properties /“Lﬂfl/C/L/'
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o Classifications of Real Numbers . ﬁ
® Order of Operations é EMD 46

e Distribution and Combining Like Terms

e Solving Equations
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Clearing Fractions - Mo/t ‘é}/ (CM
Special Cases (Infinite/No Solution)

e Literal Equations
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e Solve:
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e Circle the error, then find the correct solution:

2x—4)—4x=—-6x+9x +4
2x—-8—4x = —6x+9x—4
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Use the indicated properties of real numbers to complete the blanks of the following statements.

50+43= 1/3 + \50
S5+(7+6)=( 5 + 7)+ é
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Classify the following numbers:

Commutative property of Addition

Associative property of Addition

Additive Identity

Multiplicative Inverse

Commutative property of Multiplication

Associative property of Multiplication

Distributive property

Distributive property

Associative property of Multiplication
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Sara bought 8 chairs and 2 tables for a game room. She bought the tables for
$20 each, and her total bill was $88. Write and solve an equation to find the

price of each chair.
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1. Write an algebraic expression with 2 terms, a variable of w, a constant of 7, and a coefficient of 12.
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2. Translate the following to words in 2 differentways: 7 —x = 3
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MORE!:
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